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10:00 —10:30 SE(2M  FAHHSEHA 1T FH =, 2F : S=& 38)
10:30 —11:10 7Hs|A, HI1&53(FHE)
11:10 — 11:30 coffee break(ZA =)
11:30 —13:00 =3ZY3 (L= 37|23l d33]) (FHO{)
13:00 —14:00 A (S=Ha AH)
14:00 —15:40 =t=UHE MM D(SSH 3153)
15:40 —16:00 coffee break
15:40 —17:40 St=2LE MM A(SS# 313%)
15:30 — 15:40 coffee break
16:00 —17:40 =t=2LHE MM B, C(3=& 315%)
16:00 —16:20 coffee break
16:20 —17:40 =t=2UHE MM D, E(3=# 316%)
« 7|2l MM
10:00 —10:30 SE(2M  FHHSEH 13 I =, 2F: =& 38)
10:30 —11:10 7H3[A , HI|E3[(ZHE)
11:10 — 11:30 coffee break(ZA =)
11:30 —13:00 =3ZY3 (L= 37|23l d33]) (FHO{)
13:00 —14:00 A (S=Ha AH)
14:00 —17:10 7|2MH 1 (S 3145)
14:00 —16:00 7|2IMM 2(SsHE 316%)
15:00 —17:00 7Z|2/MM (S 312%)





